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Project Goals

e To measure utilization of a T3 link
between Andover and Marlborough
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[Description

e Engineers in both locations
e Clear Case, Team Track, etc. in Andover

e Marlborough employees need to access Clear
Case, Team Track, etc.

e T3 link (45Mbps) between two locations
® Do we get the use out of the T3 link?

e Can wejustify havinga T3 link or T1 would be
enough?




T3 - comprised of 28 T1 lines

*A T3 line (also know as a DS-3) is an ultra high-speed connection
capable of transmitting data at rates up to 45 Mbps.

*A T3 lineis egual to approximately 672 regular voice-grade telephone
lines

Fast enough to transmit full-motion, real-time video, and very large
databases over a busy network.




T3 - comprised of 28 T1 lines

A T3 lineistypicaly installed as a mgor networking artery for large
corporations and universities with high-volume network traffic.

*A T3 Isthe second fastest, non optical connection offered in North
America.

*A T3 lineiscomprised of 28 T1 lines, each operating at total signaling
rate of 1.544 Mbps.




T3 vs T1

*The most significant differences between T1 linesand T3 lines are cost
and speed.

*The typical T1 connection costs approximately $800 per month while a
T3 connection can cost as much as $15,000 per month.

*T3 lines are extremely high bandwidth connections into a carrier's
backbone.

*They typically include SLAs (Service Level Agreements) that guarantee
uptime and performance
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\What to measure?

- the % of the pipe being used

e Throughput - the amount of information transferred within
the system for a given amount of time

e Latency - response time

e Jitter - variation in delay for packet transfers

m Take spot measurements at different times of day




e Project Goals
e Description

e \What to measure?
@ How to measure?
® Setup

e Analysis

e Conclusion




How to measure?

Measurement Tools
Monitoring Tools
Performance and Measurement Tools
urveyor
M eter
Statlive

Medic

RTG - THE WORST
- HARD TO INSTALL
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L ucent Technologies
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T3 LINK
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Analysis

e Getting to the T3 link not easy

e Waiting to place a hub instead of the
switch

e Approximate result are known
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Conclusion

e T3 link Is only 1.6% utilized

e T3 link Is justified anyway




